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Question Four In part (a) this question asked candidates to calculate
the dividend capacity of a company which received dividends from
Its international subsidiaries.A proposal was put forward which
would change the level of dividends received due to a change in the
tax payable (in fact the dividends reduced because more profits were
being made by the subsidiary in a high tax country and the higher
taxes resulted in lower dividends).Part (b) asked for a comment on
the result and the actions the company would need to take if the
dividend capacity was not sufficient to pay the desired amount of
dividends. This question was the least popular of the optional,section
(b) questions.lt required a logical and systematic approach because a
lot was being asked from the candidates especially in answering part
(a) of the question.Good attempts at part (a) achieved high marks
but sometimes the answers were not appropriately structured and
this resulted in mixed-up or jJumbled answers.Few appropriate
answers were received for part (b) and mostly these reflected the
disorganised approach to part (a). Question FiveThis question was



the most popular and probably the best answered of all the questions
on the paper with many candidates gaining a high proportion of the
marks for their answers.It asked candidates to consider whether or
not a joint venture was the viable option,how the drawbacks of a
joint venture could be mitigated and additional information
required. Answers that gained fewer marks did not give many points
or lacked adequate discussion because they were in note
form.Sometimes points were repeated in various formats and these
did not get additional marks.Overall though,many answers gained
over half marks and some cases over 70% of the total marks for this
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